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Why Was The v:o_ﬂomqm_v:mq Arrested?

Solve any inequality below. CIRCLE the letter next to the correct m}mimﬁ Write this letter in the box at the bottom of the
page that contains the number of that exercise. Keep working and (o: will discover the answer to the title question.
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®x+5>09 ®—6x< 12 @-5x>-20 |[@®-Ltn=-15 | @ 2x>8
(E)x > 4 (E)x > ~2 (Mx>4 (hn = 30 (D) x > 12
(R)x < 4 (D)x < ~2 (E)x < 4 (U)n < 30 (W) x < 712
@ 3x < 15 @-6x<712 | @x-10<71 |@Dx+15<4 | @ —2x <42
(S)x =5 (L)x > 2 (F)yx > 9 (E) x > ~11 (P)x= 21
(D)x =<5 (W) x < 2 (P)x < 9 (H)x < ~11 (X) x < 21
Ou-1=2-4 | ®z+4>"3 | @Lln=15 @88 x > ~56 @3t + 13 = 30
(Au= "3 (E)z > 7 E) n = 30 (P)x > "7 (Tt =17
L)u<-3 (A)z <~7 (lyn < 30 (N)x < =7 (P t <17
~15 @9 4a < ~20
(F)a = "5
(B)a=<"5
@D ~% k> 1
(P)k > 8
(H k<8
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